B33E E—F/NL—Dx Ry REb—FAVMRTDa— )L 2019/8/10% #
[8/11(RH)]
a—+h A a—+ Y
9:00 | BVJ #1 | 1 B #A/BE Bk vs. 32 HH Esh /A Kb EITOvs)| | 900 BVI#2 [ 17 B BE / ME B8 (BB) vs 16 WK XKE / Hin A& (BW
BVJ#9 | 3 (R ZEA/RN BT I vs. 30 HHFEX/EEREEE GFI) BVJ#6 |21 ZEH —# /BAKFFE(ZF) vs 12 IO FL/ &F BE WB)
BVJ #16| 31 f&H KA / #iAK KB} (BEE) vs. 2 B =&/l Bz BVJ #15| 15  ir%p = /I RN (KRIFK) vs. 18 BER @#F / AF &b (B
BVJ#i1| 11 BIE BX / #B A8 (EH) vs. 22 BEHBK/TA5—EVJ R BE) BVJ #14| 23 [ BA / F BR GE&I0v)) vs. 10 HBH F/ IF BF (RE)
BVJ #17 #1winner vs. #2winner BVJ #18 #3winner vs. #4winner
M1 Wi g BE/EH 5 vs. W8 W #RF/40 E BVJ #24 #15winner vs. #16winner
M4 w7 =)l B/ H BE vs. W2 #HA RF/EA REE BVJ #22 #11winner vs. #12winner
BVJ #25 #17winner vs. #18winner BVJ #26 #19winner vs. #20winner
a—+h B a—+ D
9.00| BVJ#4 [ 25 FIR BA/RH HFX(FE) vs. 8 —E KM/ER &N 900| BVJ#3 | 9 ZH XK /B EZ FE vs 24 H BE /EE #TF (WR
BVJ#8 |29 fEIR B/ FHE HT (EB) vs. 4 kI HER/PIL HiE BVJ#7 |13 ZE BA/ 4B HEANFHR) vs 20 FH)II X /ED HA @#HRIQ)
BVJ#5 | 5 HH EE/fE EZ vs. 28 falR K#/ LHE JFE (BiR) BVJ #10| 19 K F1E / =M M (FF) vs. 14 FIHFEF / FHBER (FH)
BVvJ#12|27 Ml 154 / dL)Il #&8K (f&RE)  vs. 6 B% RE/HE B BVJ #13| 7 =% EA/RB B vs. 26 B {ZE /A HE (BRSB)
BVJ #21 #9winner vs. #10winner BVJ #20 #7winner vs. #8winner
M2 W5 A %%/ LB FF vs. W4 He £F/#8% Xl BVJ #19 #5winner vs. #6winner
M3 W5 At BEX/EH B vs. W6 IR RIE/INE BE BVJ #23 #13winner vs. #14winner
BVJ #28 #23winner vs. #24winner BVJ #27 #21winner vs. #22winner
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